Type of Dealer Registration	Current Registration Fee	Fee For Each Additional Plate	Last Fee Change*	Previous Registration Fee	Previous Fee for Each Additional Plate	# of Reg'd Dealer
New Car	\$370.00	\$40.00	2001	\$270.00	\$30.00	95
Used Car	\$370.00	\$40.00	2001	\$270.00	\$30.00	341
Finance Car	\$370.00	\$40.00	2001	\$270.00	\$30.00	2
Motorcycle / Motor-Driver Cycle	\$45.00	\$10.00	2001	\$32.00	\$7.00	43
Trailer	\$90.00	\$10.00	2001	\$65.00	\$7.00	78
Highway Building Equipment	\$90.00	\$10.00	2001	\$65.00	\$7.00	3
Farm Equipment	\$40.00	\$12.00	1989	\$33.75	\$11.25	1
All Terrain Vehicle	\$45.00	\$5.00				34
Snowmobile	\$40.00	\$5.00	2001	\$25.00	\$3.00	41
Motorboat	\$30.00	\$10.00	1989 & 200)1		45
Auction	\$370.00	\$40.00	2001	\$270.00	\$30.00	1

*For all dealer fees.	but one, it has been 14	years since the last increase	for dealer registrations.
		,	

Current Revenue	Raise Current fee by \$50	Raise Current Fee by \$100	Raise Current Fee by \$150	СРІ	CPI - Revenue Estimate
\$35,150.00	\$39,900.00	\$44,650.00	\$49,400.00	\$495.00	\$47,025.00
\$126,170.00	\$143,220.00	\$160,270.00	\$177,320.00	\$495.00	\$168,795.00
\$740.00	\$840.00	\$940.00	\$1,040.00	\$495.00	\$990.00
\$1,935.00	\$4,085.00	\$6,235.00	\$8,385.00	\$60.00	\$2,580.00
\$7,020.00	\$10,920.00	\$14,820.00	\$18,720.00	\$120.00	\$9,360.00
\$270.00	\$420.00	\$570.00	\$720.00	\$120.00	\$360.00
\$40.00	\$90.00	\$140.00	\$190.00	\$55.00	\$55.00
\$1,530.00	\$3,230.00	\$4,930.00	\$6,630.00	\$60.00	\$2,040.00
\$1,640.00	\$3,690.00	\$5,740.00	\$7,790.00	\$55.00	\$2,255.00
\$1,350.00	\$3,600.00	\$5,850.00	\$8,100.00	\$55.00	\$2,475.00
\$370.00	\$420.00	\$470.00	\$520.00	\$495.00	\$495.00
\$176,215.00	\$210,415.00	\$244,615.00	\$278,815.00		\$236,430.00
Increase in					

\$34,200.00 \$68,400.00 \$102,600.00

Revenue of:

\$60,215.00

Last Updated 3/13/15.										
	Last Year	Current Fee	Number of Transactions	Revenue Collected FY 2014	Current Fee Adjusted for CPI	Fee Increase if Adjusted for CPI	Additional Revenue (fees adjusted by CPI)	Current Fee plus 6%	Round up	Additional Revenue (fees adjusted for increase of 6%)
	Increased									
LICENSE & NON-DRIVER FEES					<u> </u>					merease or over
Operator's License - 4 Year										
·	2012	\$48.00	258,794	\$12,422,112.00	\$48.86	\$49.00	\$258,794.00	\$50.88	\$51.00	\$776,382.00
Operator's License - 2 Year	2012	\$30.00	88,345	\$2,650,350.00	\$30.54	\$31.00	\$88,345.00	\$31.80	\$32.00	\$176,690.00
Junior Operator's License	2012	\$30.00	5278	\$158,340.00	\$30.54	\$31.00	\$5,278.00	\$31.80	\$32.00	\$10,556.00
Learner's Permit - (New & Renewal)	2009	\$17.00	11952	\$203,184.00	\$18.52	\$19.00	\$23,904.00	\$18.02	\$19.00	\$23,904.00
Motorcycle Learner Permit (New & Renewal)	2009	\$17.00	338	\$5,746.00	\$18.52	\$19.00	\$676.00	\$18.02	\$19.00	\$676.00
Non-Driver ID - Initial Application	2012	\$20.00	9325	\$186,500.00	\$20.36	\$21.00	\$9,325.00	\$21.20	\$22.00	\$18,650.00
Non-Driver ID - Renewal	2006	\$20.00	9326	\$186,520.00	\$23.19	\$24.00	\$37,304.00	\$21.20	\$22.00	\$18,652.00
Commercial's Driver License - 4 Year	2006	\$75.00	18367	\$1,377,525.00	\$86.94	\$87.00	\$220,404.00	\$79.50	\$80.00	\$91,835.00
Commercial Deiver License - 2 Year	2006	\$50.00	2058	\$102,900.00	\$57.96	\$58.00	\$16,464.00	\$53.00	\$53.00	\$6,174.00
Commerical Driver License - Duplicate	2009	\$13.00	210	\$2,730.00	\$14.16	\$15.00	\$420.00	\$13.78	\$14.00	\$210.00
Duplicate Operator's License, Junior Operators License, and Non-Driver ID	2003	\$15.00	27112	\$406,680.00	\$19.05	\$20.00	\$135,560.00	\$15.90	\$16.00	\$27,112.00
Motor Cycle Permit (Duplicate)	2006	Free	337							
Enhanced Driver's License	2006	\$25.00	49072	\$1,226,800.00	\$28.98	\$29.00	\$196,288.00	\$26.50	\$27.00	\$98,144.00
State Employee ID	2006	\$5.00	64	\$320.00	\$5.80	\$6.00	\$64.00	\$5.30	\$6.00	\$64.00
CDL Learner's Permit	2006	\$12.00	184	\$2,208.00	\$13.91	\$14.00	\$368.00	\$12.72	\$13.00	\$184.00
CDL Learner's Permit Renewal	2006	\$12.00	110	\$1,320.00	\$13.91	\$14.00	\$220.00	\$12.72	\$13.00	\$110.00
Motorcycle Endorsement	2006	\$2.00	723	\$1,446.00	\$2.32	\$3.00	\$723.00	\$2.12	\$3.00	\$723.00
EXAM FEES							·			
EXAMINATION FEES - (Written Exam) This does not include CDL exams	2012	\$30.00	35789	\$1,073,670.00	\$30.54	\$31.00	\$35.789.00	\$31.80	\$32.00	\$71,578.00
EXAMINATION FEES - (Road Test) This does not include CDL		Ì		, , ,	·		. ,			
exams.	2012	\$18.00	4242	\$76,356.00	\$18.32	\$19.00	\$4,242.00	\$19.08	\$20.00	\$8,484.00
Motorcycle Skills Test	2012	\$18.00	300	\$5,400.00	\$18.32	\$19.00	\$300.00	\$19.08	\$20.00	\$600.00
Initial CDL Knowledge Test & Skills Test	2012	\$35.00	404	\$14,140.00	\$35.63	\$36.00	\$404.00	\$37.10	\$38.00	\$1,212.00
Subsequent CDL Test	2012	\$30.00	195	\$5,850.00	\$30.54	\$31.00	\$195.00	\$31.80	\$32.00	\$390.00
Endorsement Test	2012	\$13.00	4164	\$54,132.00	\$13.23	\$14.00	\$4,164.00	\$13.78	\$14.00	\$4,164.00
Motorcycle Learner's Permit Test	2006	\$7.00	675	\$4,725.00	\$8.11	\$9.00	\$1,350.00	\$7.42	\$8.00	\$675.00
Skills Test Scheduling Deposit	2006	\$20.00	0.0	\$0.00	\$23.19	\$24.00	\$0.00	\$21.20	\$22.00	\$0.00
DRIVER IMPROVEMENT									·	
Reinstatement Fee	2009	\$71.00	68,650	\$4,874,150.00	\$77.34	\$78.00	\$480,550.00	\$75.26	\$76.00	\$343,250.00
VEHICLE TITLE & LIEN FEES				\$0.00		\$0.00	\$0.00			
Title - New, Transfer, Duplicate, Corrected, Salvage, Surrender of Distinctive Title, Lien Release	2012	\$32.00	OYEUEO	\$31.846.044.00	\$23.50	\$34.00	\$065,059,00	\$24.00	625 00	\$1,020,114,00
	2012	\$33.00	965058	\$31,846,914.00	\$33.59	\$34.00	\$965,058.00	\$34.98	\$35.00	\$1,930,116.00

	Last Year		Number of	Revenue	Current Fee	Fee Increase if	Additional Revenue (fees	Current Fee plus		Additional Revenue
	Increased	Current Fee	Transactions	Collected FY 2014	Adjusted for CPI	Adjusted for CPI	adjusted by CPI)	<u>6%</u>	Round up	(fees adjusted for increase of 6%)
Title - Motorboat/Snowmobile/ATV - New, Transfer, Duplicate, Corrected, Surrender of Distinctive Title, Lien Release										
	2042	#20.00	35121	¢702.420.00	\$20.36	\$24.00	\$25.424.00	₽24.20	¢22.00	¢70.242.00
	2012	\$20.00	33121	\$702,420.00	\$20.30	\$21.00	\$35,121.00	\$21.20	\$22.00	\$70,242.00
Lein Fees - Motor Vehicle	2012	\$10.00		\$0.00	\$10.18	\$11.00	\$0.00	\$10.60	\$11.00	\$0.00
Lein Fees - Motorboat/Snowmobile/ATV										
Letti Fees - Motorboat/Showmobile/A1 V	0040	# 40.00		#0.00	# 40.40	©44.00	#0.00	040.00	¢11.00	* 0.00
PLATE FEES	2012	\$10.00		\$0.00	\$10.18	\$11.00	\$0.00	\$10.60	\$11.00	\$0.00
Vanity / Special Plate	2012	\$45.00	23964	\$1,078,380.00	\$45.81	\$46.00	\$23,964.00	\$47.70	\$48.00	\$71,892.00
Conservation Plate	2009	\$23.00	6183	\$142,209.00	\$25.06	\$26.00	\$18,549.00	\$24.38	\$25.00	\$12,366.00
Safety / Service Organization Plates	2009	\$15.00	2594	\$38,910.00	\$16.34	\$17.00	\$5,188.00	\$15.90	\$16.00	\$2,594.00
Building Bright Futures Plate	2006	\$20.00	733	\$14,660.00	\$23.19	\$24.00	\$2,932.00	\$21.20	\$22.00	\$1,466.00
U.S. Veteran's Plates	2006	No Fee								
Handicap Placards and Plates	2006	No Fee	7020							
Sample Plates	2006	\$15.00	100	\$1,500.00	\$17.39	\$18.00	\$300.00	\$15.90	\$16.00	\$100.00
Replacement Plate	2006	\$10.00	4489	\$44,890.00	\$11.59	\$12.00	\$8,978.00	\$10.60	\$11.00	
Replacement plate for State, Municipal, Fire Dept., & Rescue Organizations	2006	\$7.00	11	\$77.00	\$8.11	\$9.00	\$22.00	\$7.42	\$8.00	
REGISTRATION		47700		*******	44.11	*****	,	V =	75.55	7
Registration - 1 Year*	2012	\$69.00	618426	\$42,671,394.00	\$75.17	\$76.00	\$4,328,982.00	\$73.14	\$74.00	\$3,092,130.00
Registration - 2 Year*										
	2012	\$127.00		\$0.00	\$138.35	\$139.00	\$0.00	\$134.62	\$135.00	\$0.00
		, ,,,,,,					V. 55		7.55.00	, 5100
Motorcycle Registration										
	2012	\$43.00	30452	\$1,309,436.00	\$44.79	\$45.00	\$60,904.00	\$45.58	\$46.00	\$91,356.00
				, , , , , , , , , , , , , , , , , , , ,						
Trailer Registration - 1 Year (1,499 lbs. or less)										
T 11 D 14 1 0 0 1 1 1	2012	\$25.00		\$0.00	\$25.45	\$26.00	\$0.00	\$26.50	\$27.00	
Trailer Registration - 2 Year (1,499 lbs. or Less)	2012	\$48.00		\$0.00	\$48.86	\$49.00	\$0.00	\$50.88	\$51.00	
Trailer Registration - 1 Year (1,500 lbs. or More)	2012	\$49.00		\$0.00	\$49.88	\$50.00	\$0.00	\$51.94	\$52.00	
Trailer Registration - 2 Year (1,500 lbs. or More) Transfer Registration	2012 2012	\$96.00 \$23.00	47187	\$0.00 \$1,085,301.00	\$97.72 \$23.41	\$98.00 \$24.00	\$0.00 \$47,187.00	\$101.76 \$24.38	\$102.00 \$25.00	
Transfer of Vehicle to Surviving Spouse	2009	\$7.00	100	\$700.00	\$7.63	\$8.00	\$100.00	\$7.42	\$8.00	

	Last Year Increased	Current Fee	Number of Transactions	Revenue Collected FY 2014	Current Fee Adjusted for CPI	Fee Increase if Adjusted for CPI	Additional Revenue (fees adjusted by CPI)	Current Fee plus 6%	Round up	Additional Revenue (fees adjusted for increase of 6%)
Duplicate Registration	2012	\$15.00	12379	\$185,685.00	\$15.27	\$16.00	\$12,379.00	\$15.90	\$16.00	\$12,379.00
Motorboat Class 3 Registrations										
	2009	\$136.00	126	\$17,136.00	\$148.15	\$149.00	\$1,638.00	\$144.16	\$145.00	\$1,134.00
Vessel Validation - less than 16 ft	2001 (Adj. Session)	\$27.00	5	\$135.00	\$35.08	\$36.00	\$45.00	\$28.62	\$29.00	\$10.00
Vessel Validation - 16 ft - less than 26 ft	2002 (Adj. Session)	\$43.00	18	\$774.00	\$55.86	\$56.00	\$234.00	\$45.58	\$46.00	\$54.00
Vessel Validation - 26 ft - less than 40 ft	2003 (Adj. Session)	\$70.00	49	\$3,430.00	\$90.94	\$91.00	\$1,029.00	\$74.20	\$75.00	\$245.00
	-									
Vessel Validation - 40 ft and over	2004 (Adj. Session)	\$136.00	8	\$1,088.00	\$176.68	\$177.00	\$328.00	\$144.16	\$145.00	\$72.00
Snowmobile Registrations – Resident (New & Temp)	2009	\$25.00		\$0.00	\$27.23	\$28.00	\$0.00	\$26.50	\$27.00	\$0.00
Snowmobile Registrations - Nonresident (New & Temp)	2009	\$32.00		\$0.00	\$34.86	\$35.00	\$0.00	\$33.92	\$34.00	\$0.00
Duplicate Snowmobile Registrations	2009	\$5.00		\$0.00	\$5.45	\$6.00	\$0.00	\$5.30	\$6.00	\$0.00
Special Pupose Truck - Category 1	2006	\$150.00	988	\$148,200.00	\$173.89	\$174.00	\$23,712.00	\$159.00	\$159.00	\$8,892.00
Special Pupose Truck - Category 2	2006	\$350.00	523	\$183,050.00	\$405.74	\$406.00	\$29,288.00	\$371.00	\$371.00	\$10,983.00
Motor-Driven Cycle	2002	\$20.00		\$0.00	\$25.98	\$26.00	\$0.00	\$21.20	\$22.00	\$0.00
ATV	2002	\$25.00	1378	\$34,450.00	\$32.48	\$33.00	\$11,024.00	\$26.50	\$27.00	\$2,756.00
ASV	2007	\$77.00		\$0.00	\$86.79	\$87.00	\$0.00	\$81.62	\$82.00	\$0.00
Antique	2001	\$15.00	2259	\$33,885.00	\$19.79	\$20.00	\$11,295.00	\$15.90	\$16.00	\$2,259.00
Contractor Trailer	2001	\$145.00	20	\$2,900.00	\$191.35	\$192.00	\$940.00	\$153.70	\$154.00	\$180.00
Electric Powered	2012	\$64.00	807	\$51,648.00	\$65.15	\$66.00	\$1,614.00	\$67.84	\$68.00	\$3,228.00
Exhibition	2001	\$15.00	64	\$960.00	\$19.79	\$20.00	\$320.00	\$15.90	\$16.00	\$64.00
Municipal Spanning Antique	2006	\$10.00 \$42.00	8341	\$83,410.00 \$2,058.00	\$11.59 \$48.69	\$12.00 \$49.00	\$16,682.00 \$343.00	\$10.60 \$44.52	\$11.00 \$45.00	\$8,341.00 \$147.00
Snowmobile - Antique	2006 2006	\$42.00 \$10.00	49 616	\$2,058.00	\$48.69 \$11.59	\$49.00 \$12.00	\$343.00 \$1,232.00	\$44.52 \$10.60	\$45.00 \$11.00	\$147.00 \$616.00
Volunteer Jitney - 7 passengers or less	2006	\$70.00	2594	\$181,580.00	\$81.15	\$82.00	\$1,232.00	\$74.20	\$75.00	\$12,970.00
officey - 7 passerigers of less	2000	1.40 per hundred	2374	Ψ101,300.00	ψ01.13	ψ02.00	ψ51,120.00	Ψ14.20	\$75.00	\$12,770.00
Jitney - 8 - 20 passengers	2006	pd	171		\$1.62					
stricy o zo passorigors	2000	1.40 per hundred	17.1		Ψ1.02					
Jitney - more than 20 passengers	2006	pd	3139		\$1.62					
, , ,		2.45 per hundred								
Motor Bus	2006	pd	61		\$2.84					
Local Transit	2001	\$45.00	122	\$5,490.00	\$59.38	\$60.00	\$1,830.00	\$47.70	\$48.00	\$366.00
Motorboat/Vessel Transfer (same size or smaller)	2006	\$5.00		\$0.00	\$5.80	\$6.00	\$0.00	\$5.30	\$6.00	\$0.00
Motorboat/Vessel Transfer (larger in size)	2006	\$5.00		\$0.00	\$5.80	\$6.00	\$0.00	\$5.30	\$6.00	\$0.00
ATV Transfer	2006	\$10.00	13780	\$137,800.00	\$11.59	\$12.00	\$27,560.00	\$10.60	\$11.00	\$13,780.00
Snowmobile Transfer	2006	\$2.00		\$0.00	\$2.32	\$3.00	\$0.00	\$2.12	\$3.00	\$0.00
DEALER & INSPECTION STATIONS	2000	0 5.00		**	05.45	00.00	40.00	#5.00	* / 00	***
Intransit Plate (Purchased by Dealer)	2009	\$5.00		\$0.00	\$5.45	\$6.00	\$0.00	\$5.30	\$6.00	\$0.00
Inspection Sticker Fee PURCHASE & USE TAX	2009	\$4.00		\$0.00 \$0.00	\$4.36	\$5.00 \$0.00	\$0.00 \$0.00	\$4.24 \$0.00	\$5.00 \$0.00	
Short Term Vehicle Rentals Tax	2009	9%		\$0.00		\$0.00	\$0.00	\$0.00	\$1.00	
Purchase & Use Tax (Increase Cap on Trucks)	2009	\$1,850.00	1461	\$2,702,850.00	\$2,015.00	\$2,015.00	\$241,065.00	\$1,961.00	\$1,961.00	
EXCESS WEIGHT, OVERSIZE & OVER LENGTH PERMITS	2000	ψ1,000.00	1 101	\$0.00	Ψ2,010.00	\$0.00	\$0.00	ψ1,001.00	Ψ1,701.00	Ψ102,171.00
Excess Weight Permit 99,000 lbs. all products	2009	\$500.00	2948	\$1,474,000.00	\$544.68	\$545.00	\$132,660.00	\$530.00	\$530.00	\$88,440.00
Single Trip Permits	2009	\$35.00	9362	\$327,670.00	\$38.13	\$39.00	\$37,448.00	\$37.10	\$38.00	
Blanket Oversize Permits	2009	\$100.00	1840	\$184,000.00	\$108.94	\$109.00	\$16,560.00	\$106.00	\$106.00	
Blanket Oversize Permits - Each additional	2009	\$5.00	250	\$1,250.00	\$5.45	\$6.00	\$250.00	\$5.30	\$6.00	\$250.00
Single Trip Over Length Permits	2009	\$25.00	200	\$5,000.00	\$27.23	\$28.00	\$600.00	\$26.50	\$27.00	\$400.00
Special Excess Weight Permit - 60,000 lb permit	2002	\$115.00	905	\$104,075.00	\$149.40	\$150.00	\$31,675.00	\$121.90	\$122.00	\$6,335.00
Special Excess Weight Permit - 69,000 lb permit	2002	\$260.00	1358	\$353,080.00	\$337.76	\$338.00	\$105,924.00	\$275.60	\$276.00	\$21,728.00
Special Excess Weight Permit - 90,000 lb permit	2002	\$310.00	1623	\$503,130.00	\$402.72	\$403.00	\$150,939.00	\$328.60	\$329.00	\$30,837.00
Special Excess Weight Permit - 90,000 lb milk	2002	\$285.00	117	\$33,345.00	\$370.24	\$371.00	\$10,062.00	\$302.10	\$303.00	\$2,106.00

	Last Year Increased	Current Fee	Number of Transactions	Revenue Collected FY 2014	Current Fee Adjusted for CPI	Fee Increase if Adjusted for CPI	Additional Revenue (fees adjusted by CPI)	Current Fee plus 6%	Round up	Additional Revenue (fees adjusted for increase of 6%)
Special Excess Weight Permit - 90,000 lb permit if registered at										
90,000 lbs for Milk	2002	\$7.00	116	\$812.00	\$9.09	\$10.00	\$348.00	\$7.42	\$8.00	\$116.00
LEMON LAW										
DMV Warranty Fee	2009	\$5.00	41632	\$208,160.00	\$5.45	\$6.00	\$41,632.00	\$5.30	\$6.00	\$41,632.00
DRIVER TRAINING FEES						\$0.00	\$0.00			
Driver School Training Application (new & renewal)	1997	\$100.00	16	\$1,600.00	145.61	\$1,600.00	\$14,545.00	\$106.00	\$106.00	\$96.00
Driver School Training License	1997	\$150.00	40	\$6,000.00	218.42	\$6,000.00	\$32,723.00	\$159.00	\$159.00	\$360.00
Driver Training Instructor Application (new & renewal)	1997	\$70.00	33	\$2,310.00	101.93	\$2,310.00	\$7,102.10	\$74.20	\$75.00	\$165.00
Driver Training Instructor License	1997	\$50.00	80	\$4,000.00	72.81	\$4,000.00	\$3,560.50	\$53.00	\$53.00	\$240.00
Duplicate Driver Training License	1997	\$5.00	1	\$5.00	7.28	\$5.00	\$35.40	\$5.30	\$6.00	\$1.00
MISCELLANEOUS FEES										
Certified copy three-year operating record	2012	\$13.00	3451	\$44.863.00	\$13.23	\$14.00	\$793.73	\$13.78	\$14.00	\$3.451.00
Certified copy complete operating record	2006	\$16.00	5982	\$95,712.00	\$18.55	\$19.00	\$15,254.10	\$16.96	\$17.00	\$5,982.00
Certified copy of registration application	2006		0702	\$0.00	\$6.96	\$7.00	\$0.00	\$6.36	\$7.00	\$0.00
Lists of registered dealers, transporters, periodic inspection stations, fuel dealers, and distributors including gallonage sold or delivered and rental vehicle companies. Price per page	2006	\$6.00		\$0.00	\$6.96	\$7.00	\$0.00	\$6.36	\$7.00	\$0.00
Periodic inspection sticker record	2006	\$6.00		\$0.00	\$6.96	\$7.00	\$0.00	\$6.36	\$7.00	\$0.00
Certified copy individual accident report	2006	\$10.00		\$0.00	\$11.59	\$12.00	\$0.00	\$10.60	\$11.00	\$0.00
Certified copy police accident report	2006	\$15.00		\$0.00	\$17.39	\$18.00	\$0.00	\$15.90	\$16.00	\$0.00
Certified copy suspension notice	2006	\$6.00		\$0.00	\$6.96	\$7.00	\$0.00	\$6.36	\$7.00	\$0.00
Certified copy mail receipt	2006	\$6.00		\$0.00	\$6.96	\$7.00	\$0.00	\$6.36	\$7.00	\$0.00
Certified copy proof of mailing	2006	\$6.00		\$0.00	\$6.96	\$7.00	\$0.00	\$6.36	\$7.00	\$0.00
Certified copy reinstatement notice	2006			\$0.00	\$6.96	\$7.00	\$0.00	\$6.36	\$7.00	\$0.00
Certified copy operator's license application	2006			\$0.00	\$6.96	\$7.00	\$0.00	\$6.36	\$7.00	\$0.00
Government official photo identification card	2006			\$0.00	\$5.80	\$6.00	\$0.00	\$5.30	\$6.00	\$0.00
Listing of operator's licenses of 1 through 4	2006	\$6.00		\$0.00	\$6.96	\$7.00	\$0.00	\$6.36	\$7.00	\$0.00
Statistics and research - per hour	2006	7		\$0.00	\$40.57	\$41.00	\$0.00	\$37.10	\$38.00	\$0.00
Insurance information on accident	2006	\$6.00		\$0.00	\$6.96	\$7.00	\$0.00	\$6.36	\$7.00	\$0.00
Records not otherwise specified - per page	2006			\$0.00	\$6.96	\$7.00	\$0.00	\$6.36	\$7.00	\$0.00
List of title records and related data elements excluding any personally identifiable information - initial computer programming	2006			\$0.00	\$5,216.67	\$5,217.00	\$0.00	\$4,770.00	\$4,770.00	\$0.00
List of title records and related data elements excluding any personally identifiable information - record set on electronic media	2006			\$0.00	\$115.93	\$116.00	\$0.00	\$106.00	\$106.00	\$0.00
Agriculture	2006	various				\$0.00				
Registration - Gas/Diesel Trucks 6,099 to 90,099 lbs	2012	various			various			various		
					Total Addition	al Revenue:	\$8,034,213.83	Total Additional Revenue		\$7,533,567.00

Key: Light blue line items are not complete - wer were unable to pull together the necessary information in time for today's conversation. Purple was the assignment we were given by the Senate to show the CPI increase for all DMV fees. The green is a flat 6% increase on all fees regardless of the last time they were increased.

Note: Per the request of the Senate Transportation committee DMV compiled the above information. This information is not complete and has not been fully reviewed at the time it is being presented. The DMV considers this to be a working draft and will be refined for next week's conversation.